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The piston of the hydraulic cﬂinder- gives pin A a constant

velocity v=200 mm/sec at this moment.

1).Locate instantaneous centers of zero vélocity of Iink AB and
link BO.

2).Determine V,, velocity of the fﬁin B, and angular velocities
& ,,, @y, by using instantaneous centers of zero velocity.

3).Determine & ,, and &,,, angular accelerations of link AB and
link BO.

A 0.4kg slen_(':ler rod, originally at rest, is pulled by a force =0.8Nt.

Center of mass of this rod is at G.  Draw free body diagram of
this rod and determine reaction forces at O, and angular

acceleration & at this moment.
Slender .rod

A block of mass m moves togetller with a cart of mass M with a
speed v.  After striking with an obstacle at A, the cart stays at A
and the block moves further with the speed 0.75v.

1).If the duration time of impact is Af, determine the average

impact torce L.

2).Estimate the coefficient of kinetic friction between the block

and the cart.

At the position shown in the figure, link AB rotates with a
counterclockwise angular velocity @ = 5 rad/sec.

1).Determine velocity of the slider B in the polar (r,6)
coordinates. |

2).Determine angular velocity of link OC at this instant.

Using electrical charges as variables, obtain equation(s) of motion

for the circuit shown in the figure.

E(r) 1s the voltage source, i,(t) and i,(¢) are currents, R, and
R, are resistors, L and C represent inductor and capacitor

respectively



